R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.9-12.dwg, FL-15129.9

TRINITY GLASS

INTERNATIONAL

OPAQUE FIBERGLASS DOOR

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Huricane Zone”
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Secfion 1609.1.2 of the
FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# |DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

Bill of materials

=0~ |n| R —

37.50" MAX. O.A.
FRAME WIDTH
I
|
|
|
2.
o g
z &
= =
= ©
2 &
S w O
X
2 = O
-
= =
& W
— N
(e ] [=]
[=%]
] |
MAX. JAMB | DESIGN PRESSURE (PSF)
DIMENSION = | POSIMIVE | NEGATIVE
WOOD +75.0 -75.0
37.50" x 81.
o Pve +60.0 | -60.0
FIRERGLASS/COMP . .

\

Wi
WK

L™

.
.
.

- »

LT

FL 33585
813.859.9197
FBPE C.A. No. 9813

BUILDING CONSULTANTS, INC.
P.0. Box 230, Valrico,

Documents Prepared By:

Lynden F. Schmidt

P.E. No. 43409
Phone Neo.:

Ry

TRINITY GLASS INT'L

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

REVISIONS

3/02/15 |UPDATE TO 5TH ED. (2014) FBC | LFS| PART OR ASSEMBLY:

12/16/14|ADDED PVC JAMB/LOCK HRDWR

2
1

NOJ DATE

—

paE: 1/18/12

SCALE:  N,T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15129.9

SHEET _1 oF 7

© 2012 R.W. BUILDING CONBULTANTS ING.



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.9-12.dwg, 2.9

|e— 1 58" — /,/
R GLASS EXTERIOR LOCK BLOCK PVC STILE CAP —— PVC TOP RAIL | ‘ 4’9’2 o
PVC STILE CAP —— |=—0.32" 248" —— == 158" = ! "&2 3
6 , g:dZg "
N e —— IR I S
: / i = & oSy .=
3 N < oSz 82
2 = i 7 O ST
~ /,, e teenaesst® &\\ 43509
Wl - S 358
‘ i X ERW 250
L \y —_/ i \r . on’z
LVL STILE POLYURETHANE INTERIOR LVL STILE WE L. D Se
0.10" - FOAM CORE —_— NiER 0% 23
~10
03— ol = 1"\ HORIZONTAL CROSS SECTION N§ “Ess 2.5t
\2_/ g u:#: Mmoo b
g 52 §
35.75" MAX. 58
PANEL WIDTH 8 2a @
/f
q’ ? ~ a
2 z =
7o) & Q
[I |] [l I] l EXTERIOR INTERIOR 3 5 D
2/ ) T M1 POLYURETHANE z (9%
= }—FOAM CORE RIS o s
5 0 - S o
E -% 2 w0 | 8 -
2 “ 2 %
I / + ) o o
o — SEE HARDWARE \ ' 8 olol
2 gag ~
é - '.\(\r i
}E q)‘l« | ] : DE:
9 SEE § MRS
S DETAIL 1 \ DOOR SKIN Sl
] " IS
4 B3|
= || L@
3 DETAIL 1 B3 &
2 52
. N o|¥
PVC BOTIOM RAIL —J NI
: w1
@ OPAQUE DOOR cwikser | KNOB: SIGNATURE SERIES o] NEBE
. DEADBOLT:  SIGNATURE SERIES (980) g ] e 1,/18/12
KNOB & DEADBOLT: ’ )
DOOR SKIN: 0.070" MIN. THK. FIBERGLASS KWIKSET ) scaE:  N.T.S.
CORE MATERIAL: POLYURETHANE FOAM SIGNATURE SERIES COMBO PACK (991) -~ 1.76" —= oK
KNOB: F SERIES ,
SCHLAGE CHK. BY: LFS
DEADBOLT: B40 SERIES m VERTICAL CROSS SECTION DRAWING NO.:
2/ FL—15129.9
SHEET _2 OF 7

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.9-12.dwg, 3.9

1-1/4" MIN.
EMSB. (TYP.)

BN

D

&

v

%;

DD

0.18"

=— C'SINK

(TYP.)

0000

INTERIOR

12 (40)

-

v

@5 ? & umo

7“1\ HORIZONTAL CROSS SECTION

\y Outswing shown - Inswing also approved

0000

)

INTERIOR

1-1/4" MIN.
EMB. (TYP.)

\

EXTERIOR

7”3 "\ HORIZONTAL CROSS SECTION

W Shown w/1X sub-buck

0.15"

C'SINK —»

(TYP))

0000

INTERIOR

O,

ﬁ

\\

EXTERIOR

7“2\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

7
\\\ RTTTTTVON &’/
3 . d Y
NS 9z 8
Q\Q “\Z 0
S 8 P
=X 3 '.‘__\:gn
S5ig I PRI,
LA W & O0Sv .-
: co. ..\:"_ oc!
AL B NEET L
7, >'o. * Q\ }--"—'-'m‘_
2, *eeresanes® &\\ HBow
% e Q) 5> 40
/,’I *P@\\\ % .— .
gy |‘:\:§ S §°°2°
o
Mo ® <] 524:
fL ~ 1P £ z m o
\’-, o .cm a [ ]
a £O H ,cuw
N 288 3c88
L ¢ madoi
2w,
c [}
¢ o §
8 2
»
z
o
=
o |
E 2
< n
2 | 8
3 S
[ @ O
= -
N
= |93
1-1/4" MIN. 515 |yl N
©
EMB. (TYP.) § ol S
o
1
& &
22>
~ldjm
Bl
iz
o
o~~~
&
g:
Sy
1Sl 12
2 o
m -
=3 2
o5 IS
o|Q] ¥
B2
—
<8
EQ
5|2
o|¥
‘-\L‘J
k,“y—
SRS
N
~lo
NTIZ
DATE: 1/18/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15129.9
SHEET 3 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SANVLIINSENOD 9NIgUInNng m's 2102 @ :

£186 'ON V'O 3dai SNOISIAZY
L616°6S9°CLB 'ON euoyd Ad 31VQ [ONJ| o LRI
S6SEE 4 ‘O9MIDA ‘OgZ %08 ‘O'd \§ SNOLD3S SSOHO TYOLLH3A S41| ¥MANH XO01/8AVP OAd _a3davlri/91/zi] | Ny v|x|@ 3 _.._
o_ﬂ _Mmkzﬁ..:wzoo ONIQTINg \&. "ATENISSY 0 1dvd |S41| 084 (¥10Z) 'd3 HIS Ol 31vadn|sL/20/c | 2 | M 1., 51°
R WNO/ ), 80¥EY ‘ON "I'd —1. 15| 8|g ! _
D€ ..nwﬁo.uu....b %, IPWYSS ‘4 uopuky TANI SSYTO ALINI&L ] M sle|E T B
) Joavis % :Ag peipdeid sjuewinosoq 110ndodd S|R|8|s w &
= =y
E X ¥ o ixE Y
- 60¥EY 'ON =
\\ oto o.u ,P' ﬂ. v .
- .- ..
%, L et A, & - N
\\\ Q\:oa uuuuuuu cw /// Zmz :V\PI_,
\\\s Iom /I/

INTERIOR

(*dAL) "aw3
.Z_E :.V\_.;.

0000
\\
TERIOR //

INTERIOR @
EX

/"5 "\ VERTICAL CROSS SECTION

w Inswing sill

=
5
4 S
[%¢]
2
8 ;
Z U= ('dAL) “awW3 v
32 NIW.p/1-L A
. O3
9e El s
wl e
v >\5
5 @
©)
&5
=
M o ©)
e i~
= 2
LLy
o )
zZ )
= [
o]
o
c —
i
~ Ol
g 3
>0
< <
('dAL) "aw3 mu
NIW F/1-L

Q
o
o
m (dAL) "ew3
w NIW ¥/ 1-1
S
ac >
o Q O
o) o w0
el =2 = v €
g 9 Z go
Z = ols
= '§ &2
o] oS
a 8 37
vl 3 < o
mnrDu. - m.m
“anum. “ ﬂm
=252 >0
g\ 2s
m.w.m mw
Y -
5 @ |
g [ 2 d
~ Ll oo Y e
z 5 3
e w
(A W]

6'v 'BMP'ZT-6"62TST-14\iuanD\sBumeIa\62 1S T-T-\seAosddy 1onpoid epuojd\ I NINVINYEd AYULINSIURID\ Y



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.9-12.dwg, 5.9

2X BUCK —

TYP. HEAD

— AND JAMBS

e

]

z
=
©
w

MASONRY

OPENING

. q : - ‘,AQ
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

—

edge distance to mortar joints.

0.C. (TYP)

. Concrete anchor locations at the comers may be adjusted fo maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

SIZ

TTW BUILDEX | 3/16"

TAPCON® [ 178"

ELCO )
uLrRacoN® | 174

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

31.0" MAX
C.TYP

)

SEE
HINGE
DETAIL 2

J'F:?'Jl.

SEE HINGE
DETAIL 1

HINGE JAMB

I
S . - N R
S e - I C S
a 4 LT A e
V4

S 2X BUCK %
e 1X BUCK
e NN
—  TYP.HEAD = |
AND JAMBS
2X BUCK

DOOR /

— B .

]
>
<

FRAME 2
s
MASONRY
OPENING
/ S— ——
= TYP. SILL
FRAME ANCHORING
Masonry conshruction
\
\\
2X BUCK
| 1XBUCK
e [] eof]
GOzt
Se .,,_l

HINGE DETAIL 1

" (TYP.)
)
g F—i
U
o B T
STRIKE JAMB

&)

R

HINGE DETAIL 2

LLLLLIT] /"

wi
WX /,

N
N ..oaooo-... 7,
\\\\«o * "./ ,,/ n
\Qn.. ‘ ” o
:s" @ PACAE-
5::’3’ g o1 A=0 M
= O ¢ X ST
BRI (&S0
P - FOzP 55
AL FOS Z0gm
7, 2" P8 Eto-
7, ALTYON e N J Do
/,’, ;’ A a>,,50’)
i Zoms
g ) onN-=
<l © 0 Xz
\ a £0 5 ., cu
Yo 5028
L T¢ BDoaolw
2
SN
&
\
-
8 B2
3 2 af
(::’ZX BUCK © g' %5
= ol xXZ
(H)1xBUCK = 98
% | o ®
Yy =
<) ©
N\ -
n
® o
8|
STRIKE PLATE DETAIL R
Sk
s1S [2
ulN [©
T [
53| 3
o
Bl
2X BUCK 5|9
T
1X BUCK 2K
N|8|=
olT|<
SN
DATE: 1/18/12
N SCALE:  N.T.S.
DWG. BY: JK
cHk. B:  LFS
DRAWING NO.:
FL—15129.9
SHEET _ 5 oF _7

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNGD aNIgTing "M'y 2 1L0g @

€186 'ON V'O 3dad SNOISIAZY
LB16°6G9°CI8 'ON 8uoyd SININONOD Ad J1va [ON| | . nl 2 7_
G6SES 14 ‘OSUIDA ‘0SZ XOF ‘O°d \§ S31|_HMAdH 001/8Avr OAd 03a0v[rL/91/21] L || 4|S|L| &,
"ONI ‘SINVIINSNOO ONIaTING @4 AATBNISSY ¥O0 18vd |S47] 084 (¥102) "3 HIS OL 31vadNn|s1/20/€[Z | M P o_
/ Z — | C©
\\\ . e — M o |
60%S¥ "ON ‘3I'd . P
\\\\\ WILYDS 4 uUopUAT TANI SSVI9 ALINIML @ w ¢ |y =Xl
% :Ag petpdesd syuewnosog :10Naodd 3 2|3 m %
=3 & s ]
= i J08°1
E X * T AL l_
— % 6ovEYON ¢ s
\\\\ -..- # uﬂl ...-. /” o)
\\\&Qooooo.oo.o.oﬂot}/’/’
“, Wii5s 3 W
st
0
gy %
g8 s
- ~r o
+ B
33 ]
b7 0 M O
o
W9L0
[ .
A
() == g 5
2 &8s
Sa
} 38
W
b o
SR
50 ~
(o]
o
:ﬁm.— _1. 1!,
—.01
*A _.&;4
T a
[ —
3|8 a 2
T ] 5
O B W
o~ MWM = o
Qo8 < =
Z =5 =
a O a . (L
B Qlga B S
N — §§ 3 a —— LE] - N
X0z ~ <O ‘ m
wi s O
o
O, .
: ®
Q ]
_ peesslS |A| m
:_.w.OL . m
oc
S
N 2
~O -
5 z
=
:m.N. O
w
"_ :—m._. T
" Ll 1 5
0
= . 2 1 2
3 - I S 8
. < o2
Q wm N - S
o I ANn =
< Qv i Z % e
SIS 3 @ i Q < =S
. TF Y IS Bl
w Ija D
o (o]k=
Iﬁ é - :
o™~
‘ %w 1
ST L
WSL0

6'9 ‘BMP'ZT-6'62TST-T4\JusLnD\sbumeia\6Z 1S T-Td\s[erolddy 1onpoid epLo\ININVIWYId Aur1\sjuald\ny



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.9-12.dwg, 7.9

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A | 1XBUCKSG >=0.55 wWOOD
B 2X BUCK SG >=0.55 WOOD
C | 1/4"MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
J #9 X2-1/4" PFH WS STEEL
L #8 X 2-1/2" PFH WS STEEL
P 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
1 HEAD & JAMB (FINGER-JOINT PINE - SG >= 0.42) wOOD
2 HEAD & JAMB PVC
3 HEAD & JAMB PVC
4 HEAD & JAMB FIBERGLASS/COMP
5 INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM
6 DOOR BOTTOM SWEEP PVC
8 #6 X 1-1/4 PFH DRYWALL SCREW STEEL
12 | WEATHERSTRIP QEBD650 Q-LON -
18 |3.983" X 4.0"HINGE MIN 0.098" THICK STEEL
19 | SILLKEY PC/ASA
22 | DEADBOLT STRIKE PLATE STEEL
23 | STRIKE PLATE STEEL
24 | #9 X 5/8" PFH WS STEEL
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
26 | #9 X 1.0" PFH WS STEEL
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
64 | #8 X 2' PFH WOOD SCREW STEEL

LD
W ;
™ x 2
e T
\\& . .'/ “ 0
~ o %, & (2]
S\Q %’, )
S5y g, b
018 1% EE
=93 g &:QZY .o
A NERR
- s > 2M
7, >‘. .'.g\\ 'S-L‘ln"
, .
LTI PRt &\‘ 49500
/, P@\\\ 3>,,5m
/’/I[ x \l\\\ %dBo‘
“”“L" gR.z
\‘5""6 0xd<’
e?*gm z‘gzd
Y o
N\ 8 5@ 9 .su
S ow 5924
4+ Dool
s u
£t _o
°
£ 6% §
b= e *
g sul
a 2a
o |
3 0
T
z g
o
0 L
) <
3 =
N L
> S
= -
& 5
| =
o
=
a
o}
o
o.
rd P
laa]

3/02/15 |UPDATE TO 5TH ED. (2014) FBC | LFS| PART OR ASSEMBLY:

1 112/16/14|ADDED PVC JAMB/LOCK HRDWR

NOJ DATE

2

REVISIONS

oATE: 1/18/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15129.9

SHEET _/ oOF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



